

## ON POLYGROUP HYPERRINGS AND REPRESENTATIONS OF POLYGROUPS

B. DAVVAZ AND N. S. POURSA LAVATI

**ABSTRACT.** In this paper we introduce matrix representations of polygroups over hyperrings and show such representations induce representations of the fundamental group over the corresponding fundamental ring. We also introduce the notion of a polygroup hyperring generalizing the notion of a group ring. We establish homomorphisms among various polygroup hyperrings.

### 1. Introduction

The concept of hypergroup, which is a generalization of the concept of ordinary group, was first introduced by Marty [6]. A hypergroup is a set  $H$  equipped with an associative hyperoperation  $\cdot : H \times H \rightarrow \mathcal{P}^*(H)$  which satisfies the property  $x \cdot H = H \cdot x = H$ , for all  $x \in H$ . If the hyperoperation  $\cdot$  is associative then  $H$  is called a semihypergroup.

In the above definition if  $A, B \subseteq H$  and  $x \in H$  then we define

$$A \cdot B = \bigcup_{a \in A, b \in B} a \cdot b, \quad x \cdot B = \{x\} \cdot B \text{ and } A \cdot x = A \cdot \{x\}.$$

A polygroup is a special case of a hypergroup. According to [1] and [2] a polygroup is a system  $\mathcal{P} = \langle P, \cdot, e, {}^{-1} \rangle$  where  $e \in P$ ,  ${}^{-1}$  is a unary operation on  $P$ ,  $\cdot$  maps  $P \times P$  into nonempty subsets of  $P$ , and the following axioms hold for all  $x, y, z \in P$ :

- 1)  $(x \cdot y) \cdot z = x \cdot (y \cdot z)$ ,
- 2)  $x \cdot e = e \cdot x = x$ ,
- 3)  $x \in y \cdot z$  implies  $y \in x \cdot z^{-1}$  and  $z \in y^{-1} \cdot x$ .

---

Received July 27, 1998.

1991 Mathematics Subject Classification: 20N20.

Key words and phrases: hypergroup, semihypergroup, polygroup, hyperring, fundamental relation, polygroup hyperring.

A hyperring is a hyperstructure with two hyperoperations  $+$  and  $\cdot$  that satisfies the ring-like axioms:  $(R, +, \cdot)$  is a hyperring if  $(R, +)$  is a commutative polygroup,  $\cdot$  is an associative hyperoperation and the distributive laws  $x \cdot (y + z) \subseteq x \cdot y + x \cdot z$ ,  $(x + y) \cdot z \subseteq x \cdot z + y \cdot z$  are satisfied for every  $x, y, z \in R$ .

If there exists  $u \in R$  such that  $x \cdot u = u \cdot x = \{x\}$  for all  $x \in R$ , then  $u$  is called the scalar unit of  $R$  and is denoted by  $1$ . The element  $0$  is called zero element of  $R$  if  $0 \cdot x = x \cdot 0 = 0$  for all  $x \in R$ .

$(R, +, \cdot)$  is called a semihyperring if  $+$ ,  $\cdot$  are associative hyperoperations where  $\cdot$  is distributive with respect to  $+$ .

Let  $R_1, R_2$  be two hyperrings. A map  $f : R_1 \rightarrow R_2$  is called a strong homomorphism if, for all  $x, y \in R_1$ , the following relations hold:

$$f(x + y) = (f(x) + f(y)) \quad \text{and} \quad f(x \cdot y) = f(x) \cdot f(y),$$

and  $f$  is called an inclusion homomorphism if, for all  $x, y \in R$ , the following relations hold:

$$f(x + y) \subseteq f(x) + f(y) \quad \text{and} \quad f(x \cdot y) \subseteq f(x) \cdot f(y).$$

In section 2 of this paper, we introduce the notion of representation of polygroups by hyper matrices, and we define a polystructure on matrices. We will construct representations of extensions of polygroups and also representations induced on the fundamental group of a polygroup.

In section 3, we introduce polygroup hyperring over a hyperring  $R$  and study relations between polygroups and polygroup hyperrings.

## 2. Representations of Polygroups

A hypermatrix is a matrix with entries from a semihyperring. The hyperproduct of two hypermatrices  $(a_{ij})$ ,  $(b_{ij})$  which are of type  $m \times n$  and  $n \times r$  respectively, is defined in the usual manner

$$(a_{ij})(b_{ij}) = \left\{ (c_{ij}) \mid c_{ij} \in \sum_{k=1}^n a_{ik} b_{kj} \right\}.$$

One of the important problems concerning representation of polygroups is as follows.

For a given polygroup  $\mathcal{P} = \langle P, \cdot, e, {}^{-1} \rangle$ , find a semihyperring  $R$  with a scalar unit and a zero element such that one gets a representation of  $\mathcal{P}$  by hypermatrices with entries from  $R$ . Recall that if  $M_R := \{(a_{ij}) \mid a_{ij} \in R\}$ ,

then a map  $T : P \rightarrow M_R$  is called a representation of  $P$  if  $T(x_1 \cdot x_2) = \{T(x) | x \in x_1 \cdot x_2\} = T(x_1)T(x_2), \forall x_1, x_2 \in P$  and  $T(e) = I$ , where  $I$  is the identity matrix.

In the following we will give an example of a polygroup and find a semihyperring  $R$  and a representation of the polygroup over  $R$ . After that we will obtain a representation of the direct hyperproduct of two polygroups  $P_1 \times P_2$  from representations of  $P_1$  and  $P_2$ . Some topics related to the above problem is also discussed.

**EXAMPLE 2.1.** Suppose that the multiplication table for polygroup  $\mathcal{P} = \langle P, \cdot, e, {}^{-1} \rangle$  where  $P = \{e, a, b\}$  is

$\cdot$	e	a	b
e	e	a	b
a	a	$\{e, b\}$	$\{a, b\}$
b	b	$\{a, b\}$	$\{e, a\}$

In  $Z_3$ , we define a hyperoperation  $\oplus$  as follows:  
 $1 \oplus 1 = \{0, 2\}, 2 \oplus 2 = \{0, 1\}, 1 \oplus 2 = \{1, 2\}$  and  $\oplus$  be the usual sum for the other cases, and let  $\odot$  be the usual product in  $Z_3$ . One can see that  $(Z_3, \oplus, \odot)$  is a semihyperring. Then the map  $T : P \rightarrow M_R$  with

$$T(e) = \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix}, \quad T(a) = \begin{pmatrix} 1 & 0 & 1 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix}, \quad T(b) = \begin{pmatrix} 1 & 0 & 2 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix}$$

is a representation of the polygroup  $P$ .

Generally, if we choose  $i_0, j_0, i_0 \neq j_0, 0 \leq i_0, j_0 \leq n$  and then put  $T(e) = I_n, T(a) = A_n$  and  $T(b) = B_n$  where

$$A_n = (a_{ij}) \text{ with } \begin{cases} a_{ii} = 1 & i = 1, \dots, n \\ a_{i_0 j_0} = 1 \\ a_{ij} = 0 & \text{otherwise.} \end{cases}$$

$$B_n = (b_{ij}) \text{ with } \begin{cases} b_{ij} = a_{ij} & \text{if } i \neq i_0, j \neq j_0, \\ b_{i_0 j_0} = 2 \end{cases}$$

then  $T$  is a representation of  $P$ .

**EXAMPLE 2.2.** Suppose that  $\langle P_1, \cdot, e_1, {}^{-1} \rangle$  and  $\langle P_2, *, e_2, {}^{-1} \rangle$  are two polygroups. We know  $\langle P_1 \times P_2, \circ, E, {}^{-1} \rangle$  is a polygroup where  $(x_1, y_1) \circ (x_2, y_2) = \{(x, y) | x \in x_1 \cdot x_2, y \in y_1 * y_2\}, E = (e_1, e_2), (x, y) {}^{-1} =$

$(x^{-1}, y^{-1})$ . Now, if  $T_1 : P_1 \rightarrow M_R$  and  $T_2 : P_2 \rightarrow M_R$  are two representations of  $P_1$  and  $P_2$  respectively, then we have the following representation for  $P_1 \times P_2$  :

$$T_1 \times T_2 : P_1 \times P_2 \rightarrow M_R, \quad T_1 \times T_2(x, y) = \begin{bmatrix} T_1(x) & 0 \\ 0 & T_2(y) \end{bmatrix}.$$

In [2] extensions of polygroups by polygroups have been introduced in the following way. Suppose  $\mathcal{A} = \langle A, \cdot, e,^{-1} \rangle$  and  $\mathcal{B} = \langle B, \cdot, e,^{-1} \rangle$  are two polygroups whose elements have been renamed so that  $A \cap B = \{e\}$ . A new system  $\mathcal{A}[\mathcal{B}] = \langle M, *, e,^I \rangle$  called the extension of  $\mathcal{A}$  by  $\mathcal{B}$  is formed in the following way: Set  $M = A \cup B$  and let  $e^I = e$ ,  $x^I = x^{-1}$ ,  $e * x = x * e = x$  for all  $x \in M$ , and for all  $x, y \in M - \{e\}$

$$x * y = \begin{cases} x \cdot y & \text{if } x, y \in A \\ x & \text{if } x \in B, y \in A \\ y & \text{if } x \in A, y \in B \\ x \cdot y & \text{if } x, y \in B, y \neq x^{-1} \\ x \cdot y \cup A & \text{if } x, y \in B, y = x^{-1}. \end{cases}$$

In this case  $\mathcal{A}[\mathcal{B}]$  is a polygroup which is called the extension of  $\mathcal{A}$  by  $\mathcal{B}$ . In the following proposition we will see how a representation of  $\mathcal{B}$  gives a representation of  $\mathcal{A}[\mathcal{B}]$ .

**PROPOSITION 2.3.** *Let  $\mathcal{A} = \langle A, \cdot, e,^{-1} \rangle$  and  $\mathcal{B} = \langle B, \cdot, e,^{-1} \rangle$  be two polygroups. Let  $T$  be a representation of  $\mathcal{B}$ , then  $\varphi : \mathcal{A}[\mathcal{B}] \rightarrow M_R$  where*

$$\varphi(x) = \begin{cases} T(x) & \text{if } x \in B \\ I_n & \text{if } x \in A \end{cases}$$

*is a representation of  $\mathcal{A}[\mathcal{B}]$ .*

*Proof.* If  $x, y \in B$  and  $y = x^{-1}$  then  $\varphi(x)\varphi(y) = T(x)T(y)$  and  $\varphi(x * y) = \varphi(x \cdot y \cup A) = \varphi(x \cdot y) \cup \varphi(A) = \varphi(x \cdot y) \cup \{I_n\}$ . Since  $e \in x \cdot y$ , then  $\varphi(e) \in \varphi(x \cdot y)$  and so  $I_n \in \varphi(x \cdot y)$ . Therefore  $\varphi(x * y) = \varphi(x)\varphi(y)$ . The rest is obvious. □

Let  $\mathcal{P} = \langle P, \cdot, e,^{-1} \rangle$  be a polygroup. We define a relation  $\beta^*$  as the smallest equivalence relation such that the quotient  $P/\beta^*$  is a group. Then  $\beta^*$  is called the fundamental equivalence relation. Let us denote by  $U$  the set of all finite products of elements of  $P$  and define a relation  $\beta$  on  $P$  as follows:  $x\beta y$  iff  $\{x, y\} \subseteq u$  for some  $u \in U$ . Freni proved in [4] that for hypergroups we have  $\beta^* = \beta$ .

The product  $\odot$  in  $P/\beta^*$  is defined as follows:

$$\beta^*(a) \odot \beta^*(b) = \beta^*(c) \text{ for all } c \in \beta^*(a) \cdot \beta^*(b).$$

The  $\beta^*$  equivalence relation was introduced on hypergroups by Koskas [5] and studied mainly by Corsini [3]. See also [7].

Now let  $(R, +, \cdot)$  be a hyperring. We define a relation  $\gamma^*$  as the smallest equivalence relation such that the quotient  $R/\gamma^*$  is a ring.  $\gamma^*$  is also called the fundamental equivalence relation and  $R/\gamma^*$  is called the fundamental ring (see [7],[8]). If  $\mathcal{U}$  denotes the set of all finite polynomials of elements of  $R$  over natural numbers, then a relation  $\gamma$  can be defined on  $R$  whose transitive closure is the fundamental relation  $\gamma^*$ . Such a relation  $\gamma$  is defined as follows:  $x\gamma y$  iff  $\{x, y\} \subseteq u$  for some  $u \in \mathcal{U}$ .

In  $R/\gamma^*$  both the sum  $\oplus$  and the product  $\odot$  are defined as follow:

$$\gamma^*(a) \oplus \gamma^*(b) = \gamma^*(c) \text{ for all } c \in \gamma^*(a) + \gamma^*(b),$$

$$\gamma^*(a) \odot \gamma^*(b) = \gamma^*(d) \text{ for all } d \in \gamma^*(a) \cdot \gamma^*(b).$$

In the following proposition we obtain a representation of the fundamental group from a representation of a polygroup.

**PROPOSITION 2.4.** *Every representation  $T(a) = (a_{ij})$  of a polygroup  $\langle P, \cdot, e,^{-1} \rangle$  by  $n \times n$  hypermatrices over a hyperring  $(R, +, \cdot)$  induces an  $n \times n$  representation  $T^*$  of the fundamental group  $P/\beta^*$  over the fundamental ring  $R/\gamma^*$  by*

$$T^*(\beta^*(a)) = (\gamma^*(a_{ij})) \text{ for all } \beta^*(a) \in P/\beta^*.$$

*Proof.* The proof is similar to the proofs of Theorem 8.2.1 and 8.2.3 in [7]. □

**DEFINITION 2.5.** Let  $\mathcal{P} = \langle P, \cdot, e,^{-1} \rangle$  be a polygroup. Two elements  $x, y \in P$  are said to be conjugate if there exists an element  $z \in P$  such that  $y \in z^{-1}xz$ .

It is easy to see that conjugation is an equivalence relation on the set  $P$ .

Some property of  $T^*$  is given in the following proposition.

**PROPOSITION 2.6.** *Let  $T$  be a representation of  $P$  over  $R$  of degree  $n$  and let  $I_n$  be the unit matrix over  $R/\gamma^*$ , then*

i)  $T^*(\beta^*(e)) = I_n;$

- ii)  $T^*(\beta^*(x^{-1})) = (T^*(\beta^*(x)))^{-1}$  for all  $x \in P$ ;  
 iii) If  $x, y \in P$  are conjugate, then  $T^*(\beta^*(x)), T^*(\beta^*(y))$  are conjugate.

*Proof.* (i) For every  $x \in P$ , we have  $\beta^*(x) = \beta^*(x) \odot \beta^*(e) = \beta^*(e) \odot \beta^*(x)$  and from Proposition 2.4 we get  $T^*(\beta^*(x)) = T^*(\beta^*(x))T^*(\beta^*(e)) = T^*(\beta^*(e))T^*(\beta^*(x))$ . Therefore  $T^*(\beta^*(e)) = I_n$ . (ii) We have  $e \in x \cdot x^{-1}$  and so  $\beta^*(e) = \beta^*(x \cdot x^{-1}) = \beta^*(x) \odot \beta^*(x^{-1})$  which implies  $T^*(\beta^*(e)) = T^*(\beta^*(x) \odot \beta^*(x^{-1})) = T^*(\beta^*(x))T^*(\beta^*(x^{-1}))$  therefore  $I_n = T^*(\beta^*(x))T^*(\beta^*(x^{-1}))$ . So  $T^*(\beta^*(x^{-1})) = (T^*(\beta^*(x)))^{-1}$ . (iii) The proof is similar to (i) and (ii).  $\square$

### 3. Polygroup Hyperrings

Let  $\langle P, \cdot, e, ^{-1} \rangle$  be a finite polygroup, and  $\langle R, +, 0, - \rangle$  be a commutative polygroup and  $\langle R, +, * \rangle$  be a hyperring with scalar unit and zero element. Suppose that  $R[P]$  is the set of all the functions on  $P$  with values in  $R$ , i.e.,  $R[P] = \{ f \mid f : P \rightarrow R \text{ is a function} \}$ . On  $R[P]$  we consider the hyperoperations defined as follow:

$$f \oplus g = \{ h \mid h(x) \in f(x) + g(x) \}, \quad f \odot g = \left\{ h \mid h(z) \in \sum_{z \in x \cdot y} f(x) * g(y) \right\}.$$

We define the mapping  $^{-I} : R[P] \rightarrow R[P]$ , where  $f^{-I} : P \rightarrow R$  is defined by  $f^{-I}(p) = -f(p)$  for every  $p \in P$  and let  $f_0$  is the zero map.

Our aim in the following lemma and theorem is to show that  $R[P]$  is a hyperring with hyperoperations  $\oplus$  and  $\odot$ .

LEMMA 3.1.  $\langle R[P], \oplus, f_0, ^{-I} \rangle$  is a polygroup.

*Proof.* For every  $f, g, h \in R[P]$ , obviously we have  $(f \oplus g) \oplus h = f \oplus (g \oplus h)$  and  $f_0 \oplus f = f \oplus f_0 = f$ . Now let  $f \in g \oplus h$  then for every  $x \in P$  we have  $f(x) \in g(x) + h(x)$  and so  $g(x) \in f(x) - h(x)$  and  $h(x) \in -g(x) + f(x)$ . Therefore  $g \in f \oplus (-h)$  and  $h \in (-g) \oplus f$ .  $\square$

THEOREM 3.2.  $\langle R[P], \oplus, \odot \rangle$  is a hyperring.

*Proof.* By Lemma 3.1  $\langle R[P], \oplus, f_0, ^{-I} \rangle$  is a polygroup. Let  $f_1, f_2, f_3 \in R[P]$ . Then

$$\begin{aligned}
 f_1 \odot (f_2 \odot f_3) &= f_1 \odot \left\{ f \mid f(z) \in \sum_{z \in x \cdot y} f_2(x) * f_3(y) \right\} \\
 &= \bigcup_f f_1 \odot f \quad \text{where the union is over } f \text{ with } f(z) \\
 &\quad \in \sum_{z \in x \cdot y} f_2(x) * f_3(y) \\
 &= \bigcup_f \left\{ g \mid g(a) \in \sum_{a \in b \cdot c} f_1(b) * f(c) \right\} \\
 &= \left\{ g \mid g(a) \in \sum_{a \in b \cdot c} f_1(b) * \left( \sum_{a \in x \cdot y} f_2(x) * f_3(y) \right) \right\} \\
 &= \left\{ g \mid g(a) \in \sum_{a \in b \cdot c} \sum_{c \in x \cdot y} f_1(b) * (f_2(x) * f_3(y)) \right\} \\
 &= \left\{ g \mid g(a) \in \sum_{a \in b \cdot c} \sum_{c \in x \cdot y} (f_1(b) * f_2(x)) * f_3(y) \right\} \\
 &= \left\{ g \mid g(a) \in \sum_{a \in b \cdot (x \cdot y)} (f_1(b) * f_2(x)) * f_3(y) \right\} \\
 &= \left\{ g \mid g(a) \in \sum_{a \in (b \cdot x) \cdot y} (f_1(b) * f_2(x)) * f_3(y) \right\} \\
 &= \left\{ g \mid g(a) \in \sum_{a \in d \cdot y} \sum_{d \in b \cdot x} (f_1(b) * f_2(x)) * f_3(y) \right\} \\
 &= \bigcup_f f \odot f_3 \quad \text{where the union is over } f \text{ with } f(z) \\
 &\quad \in \sum_{z \in x \cdot y} f_1(x) * f_2(y) \\
 &= (f_1 \odot f_2) \odot f_3.
 \end{aligned}$$

Similarly we have:

$$\begin{aligned}
 f \odot (f_1 \oplus f_2) &= \bigcup_{g \in f_1 \oplus f_2} f \odot g = \bigcup_{g \in f_1 \oplus f_2} \left\{ h \mid h(z) \in \sum_{z \in x \cdot y} f(x) * g(y) \right\} \\
 &= \left\{ h \mid h(z) \in \sum_{z \in x \cdot y} f(x) * (f_1(y) + f_2(y)) \right\} \\
 &= \left\{ h \mid h(z) \in \sum_{z \in x \cdot y} (f(x) * f_1(y)) + (f(x) * f_2(y)) \right\}
 \end{aligned}$$

$$\begin{aligned} &\subseteq \left\{ h \mid h(z) \in \left( \sum_{z \in x \cdot y} f(x) * f_1(y) \right) + \left( \sum_{z \in x \cdot y} f(x) * f_2(y) \right) \right\} \\ &= \bigcup_{h_1, h_2} \left\{ h \mid h(z) \in h_1(z) + h_2(z) \right\} \\ &\quad \text{where the union is over } h_1 \in f \odot f_1 \text{ and } h_2 \in f \odot f_2 \\ &= \bigcup_{h_1, h_2} h_1 \oplus h_2 = \bigcup_{h_2} \bigcup_{h_1} (h_1 \oplus h_2) = \bigcup_{h_2} \left( \bigcup_{h_1} h_1 \oplus h_2 \right) \\ &= \bigcup_{h_2} (f \odot f_1) \oplus h_2 = (f \odot f_1) \oplus (f \odot f_2). \end{aligned}$$

Hence  $f \odot (f_1 \oplus f_2) \subseteq (f \odot f_1) \oplus (f \odot f_2)$ . Similarly it can be proved that  $(f_1 \oplus f_2) \odot f \subseteq (f_1 \odot f) \oplus (f_2 \odot f)$ . Consequently  $(R[P], \oplus, \odot)$  is a hyperring.  $\square$

Now that we constructed the hyperring  $R[P]$  from  $R$  and  $P$  we will study relation between the polygroup  $P$  and the hyperring  $R[P]$ .

We define  $E : R \rightarrow R[P]$  by  $r \mapsto E_r$  where  $E_r : P \rightarrow R$  is defined by

$$E_r(g) = \begin{cases} r, & g = e \\ 0, & g \neq e. \end{cases}$$

It is clear that  $E$  is a one to one function and we have

$$E(r_1 + r_2) = E(r_1) \oplus E(r_2); \quad E(r_1 * r_2) = E(r_1) \odot E(r_2); \quad E(0) = E_0 := \text{zero function.}$$

Therefore  $R$  is imbedded in  $R[P]$ .

If  $H$  is a subpolygroup of  $P$ , then we write

$$R\langle H \rangle = \{ f \in R[P] \mid \{ x \mid f(x) \neq 0 \} \subseteq H \}.$$

Then there is a one to one polygroup homomorphism from  $R\langle H \rangle$  to  $R[P]$ .

**PROPOSITION 3.3.** *Let  $P_1$  and  $P_2$  be two polygroups and  $\psi : P_1 \rightarrow P_2$  be a mapping. Then there exists an inclusion homomorphism of polygroups  $\varphi : R[P_2] \rightarrow R[P_1]$ .*

*Proof.* We define  $\varphi(f) = f \circ \psi$ . Obviously,  $\varphi$  is well-defined. If  $h \in f_1 \oplus f_2$  then for every  $x \in P_1$ , we have  $\varphi(h)(x) = h(\psi(x)) \in f_1(\psi(x)) + f_2(\psi(x))$  or  $\varphi(h)(x) \in \varphi(f_1)(x) + \varphi(f_2)(x)$  which implies  $\varphi(h) \in \varphi(f_1) \oplus \varphi(f_2)$  and so  $\varphi(f_1 \oplus f_2) \subseteq \varphi(f_1) \oplus \varphi(f_2)$ .  $\square$

**PROPOSITION 3.4.** *Let  $\psi : R \rightarrow S$  be a surjective inclusion homomorphism of hyperrings and  $T = \text{Ker}\psi$ . Then the mapping  $\bar{\psi} :$*



$R[P] \longrightarrow S[P]$  defined by  $\bar{\psi}(f) = \psi \circ f$  is a surjective inclusion homomorphism whose kernel is  $T[P]$ .

*Proof.* We have

$$\begin{aligned} \bar{\psi}(f_1 \oplus f_2) &= \psi \circ (f_1 \oplus f_2) = \psi \circ \{ f \mid f \in f_1 \oplus f_2 \} \\ &= \{ \psi \circ f \mid f \in f_1 \oplus f_2 \} \\ &= \{ h \mid h(p) = \psi(f(p)), f(p) \in f_1(p) + f_2(p), \forall p \in P \} \\ &= \{ h \mid h(p) \in \psi(f_1(p) + f_2(p)), \forall p \in P \} \\ &\subseteq \{ h \mid h(p) \in \psi(f_1(p)) + \psi(f_2(p)) \} = \psi \circ f_1 \oplus \psi \circ f_2 \end{aligned}$$

and also

$$\begin{aligned} \bar{\psi}(f_1 \odot f_2) &= \left\{ \bar{\psi}(f) \mid f(x) \in \sum_{x \in y \cdot z} f_1(y) * f_2(z) \right\} \\ &= \left\{ \psi \circ f \mid f(x) \in \sum_{x \in y \cdot z} f_1(y) * f_2(z) \right\} \\ &\subseteq \left\{ \psi \circ f \mid \psi \circ f(x) \in \psi \left( \sum_{x \in y \cdot z} f_1(y) * f_2(z) \right) \right\} \\ &\subseteq \left\{ \psi \circ f \mid \psi \circ f(x) \in \sum_{x \in y \cdot z} \psi(f_1(y)) * \psi(f_2(z)) \right\} \\ &\subseteq \bar{\psi}(f_1) \oplus \bar{\psi}(f_2). \end{aligned}$$

Therefore  $\bar{\psi}$  is an inclusion homomorphism. Obviously  $\bar{\psi}$  is onto, and

$$\begin{aligned} \text{Ker } \bar{\psi} &= \{ f \in R[P] \mid \psi \circ f = f_0 \} \text{ where } f_0 \text{ is the zero function} \\ &= \{ f \in R[P] \mid \psi(f(x)) = 0, \forall x \in P \} \\ &= \{ f \in R[P] \mid f(x) \in \text{Ker } \psi, \forall x \in P \} \\ &= \{ f \in R[P] \mid f(x) \in T, \forall x \in P \} = T[P]. \end{aligned}$$

□

Let  $\Gamma^*$  be the fundamental equivalence relation on  $R[P]$  and  $\mathcal{U}_{RP}$  denote the set of all finite polynomials of elements of  $R[P]$  over natural numbers. In the following theorem we will construct a homomorphism between  $R/\gamma^*$  and  $R[P]/\Gamma^*$ .

**THEOREM 3.5.** *There exists a homomorphism  $g : R/\gamma^* \longrightarrow R[P]/\Gamma^*$ .*

*Proof.* We define  $g(\gamma^*(r)) = \Gamma^*(E_r)$ . First we prove that  $g$  is well defined. We know  $a\gamma^*b$  if and only if there exist  $x_1, \dots, x_{m+1}; u_1, \dots, u_m \in$

$\mathcal{U}$  with  $x_1 = a$ ,  $x_{m+1} = b$  such that  $\{x_i, x_{i+1}\} \subseteq u_i$ ,  $i = 1, \dots, m$ . Then this implies  $E(\{x_i, x_{i+1}\}) \subseteq E(u_i)$  or  $\{E(x_i), E(x_{i+1})\} \subseteq E(u_i) \in \mathcal{U}_{RP}$  and so  $E(x_i)\Gamma^*E(x_{i+1})$ ,  $i = 1, \dots, m$ . Therefore  $E(a)\Gamma^*E(b)$  that is to say  $\Gamma^*(E_a) = \Gamma^*(E_b)$ .

Now we will show that  $g$  is a homomorphism. This is because  $g(\gamma^*(a) \oplus \gamma^*(b)) = g(\gamma^*(a + b)) = \Gamma^*(E(a + b)) = \Gamma^*(E(a) + E(b)) = \Gamma^*(E(a)) \oplus \Gamma^*(E(b)) = g(\gamma^*(a)) \oplus g(\gamma^*(b))$ . Similarly, we get  $g(\gamma^*(a) \odot \gamma^*(b)) = g(\gamma^*(a)) \odot g(\gamma^*(b))$ .  $\square$

**COROLLARY 3.6.** *The following diagram is commutative, i.e.,  $\varphi_2 E = g \varphi_1$  where  $\varphi_1$  and  $\varphi_2$  are canonical maps.*

$$\begin{array}{ccc} R & \xrightarrow{E} & R[P] \\ \varphi_1 \downarrow & & \downarrow \varphi_2 \\ R/\gamma^* & \xrightarrow{g} & R[P]/\Gamma^*. \end{array}$$

**ACKNOWLEDGMENT.** We would like to thank the referee of this paper for many useful suggestions.

## References

- [1] S. Comer, *Polygroups derived from cogroups*, J. Algebra **89** (1984), no. 2, 397-405.
- [2] ———, *Extension of polygroups by polygroups and their representations using color schemes*, Lecture notes in Math., no. 1004, Universal Algebra and Lattice Theory, (1982), 91-103.
- [3] P. Corsini, *Prolegomena of hypergroup theory*, second edition, Aviani editor, 1993.
- [4] D. Freni, *Una nota sul cuore di un ipergruppo e sulla chiusura trasitive  $\beta^*$  di  $\beta$* , Rivista Math. Pura Appl. **8** (1991), 153-156.
- [5] M. Koskas, *Groupoides, demi-hypergroupes et hypergroupes*, J. Math. Pures Appl. **49** (1970), no. 9, 155-1920.
- [6] F. Marty, *Sur une generalization de la nontion de groupe*, 8<sup>iem</sup> congrès Math. Scandinaves, Stockholm, 1934, pp. 45-49.
- [7] T. Vougiouklis, *Hyperstructures and their representatuions*, Hadronic Press, Inc. 1994.
- [8] ———, *The fundamental relation in hyperrings. The general hyperfield*, Proceedings of the Fourth International Congress on Algebraic Hyperstructures and Applications (AHA 1990), world scientific, (1991), 203-211.

B. Davvaz

Department of Mathematics

University of Yazd

P.O. Box 89195-741

Yazd, Iran

Institute for Studies in Theoretical Physics and Mathematics

Tehran, Iran

*E-mail:* [davvaz@vax.ipm.ac.ir](mailto:davvaz@vax.ipm.ac.ir)

N. S. Poursalavati

Department of Mathematics

University of Tehran

Tehran, Iran

Institute for Studies in Theoretical Physics and Mathematics

Tehran, Iran

*E-mail:* [nosi135@khayam.ut.ac.ir](mailto:nosi135@khayam.ut.ac.ir)